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@ The derivative of ( x? + 1) with respect
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Find the rate of change of the distance Aai o Bl 15 Jims g

jove e o Ay LoV

V4 e = e A1

between the origin and a moving point on the

graph of the functiony = X 241,

1 % =2 cm /sec at the point (1, 2)
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@ Find the equation of the normal to the curve: | . ... I 83 50all sl s ko i
y = 3e”atapointlying onit, el ads das wie o ¥ = o
whose x-coordinate =0 . .
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In the given figure: BN G-

If AB =20 cm, prove that : the area of the e P oS 13
triangle )(})AB is maximum when a = b. 555 o by A dals s o o

T b)AB o= benis (Sl ST

20 cm
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Let f be the function given by : - A 5 eSS
¥ v e
f(x) =x*—4x3 + 4x2 4 6, thenthe | T tTotm om0
function fisincreasing in .............. | == EREUEENPRURURIE
@x>20nly Leds v < @
b 0<x<1and x>2 F<or N> o> e (9
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@ if &Y _ xsinx ., any point of the points of sl 2 S (3
dx y B o0 Bl

0? oS
O8g e souie Jai pe dja.mdi.x&
(0,0), prove that: y2 =2(sinx — xcosx) | (Gae« iw) daddly o sl lia

a curve and if this curve passes by the point
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@ Let f be the function given by

f(x) = x?In(k x), where Kk is constant.
and if the function has a critical point at Xx=1,

then kK — ......

@ e

FCIvE-{ PRI (R |
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V= o s do e dais Dl O\

...................... = b

O =0
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If the graph of f\ (x) , the derivative of f, (S SN O3

is shown in the figure below, then the function > AW () 3 soie Jiay
f has a local maximum value at x = ........ sohe dad g 5 A6
o Nt _ e bt ko

7 ()3
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@ Answer only one of the following two question: 13038 (e d LI ol guad | dom Gy o

(A) If the derivative of the function 5 () 2= e D A 2387131 (1)
y=f)isy =(x—-1)*x~2) (Y= )" (V = )=

, at what values of x , if any ,does the

graph have a local minimum value , a local | 055 (<45 01) 2 S b

maximum value or a point of inflection ? | 5 5 {owe ¢ a0 40 sl

(B) Find the absolute extrema values of the O das 5l Adoe olae

function f, where alla)l (g gl ] s gt (o)
f(x) =xe™, x€ [0,2] SRR
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The volume of the solid generated by ARl 019 (0 (A ) oz
revolving the region enclosed by the curve | .y — o ol 403, i
y = 2x? and the line Yy = 4xX a complete | 3. 50 = e el
revolution about the x-axisisequalto ... | . . . 6 s il s J s
4
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@ The area of the region bounded by the ol By gl ddatdl) A Lie
curvey=x3andtheliney=x o =0 WE.:“.J\) T= 2
equals ..o L S e Solus
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Answer only one of the following two questions: | | p.zs e ) ] e e

(A) Use the integration by parts to find : 2ol 1552k JoS) pasat (1)

[ sinx In(cos x)dx s () 5] “‘\'}1
. sinv/x
(B) Find [ = dx s 1 gl (O)
e
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